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Auditing and Business Mathematics & Statistics
[GENERAL ELECTIVE]
Paper : 111
Group : IIT
Full Marks : 100
The figures in the right-hand margin indicate marks.

Time : 3 Hours

Candidates are required to give their answers in
their own words as far as practicable.

Module-I and Module—II are to be answered in
separate Answer Scripts.

Module—I 8 Module-I1-49 Yeq
e e fo7dre 2@|

MODULE-I
(Auditing)
(et =)
(Marks : 50)
(= ¢ @o)
1. Answer any four questions: 1x4=4
-1 BTG eeas Ted wis ¢
1)  Who appoints the internal auditor?
SISTE e WA (F e T

11)  What is the audit programme?
R FROD FICF 012

[Turn over]

iii)

What is the main objective of Balance Sheet
audit?

Casoig AR o1 Sy (552

iv) Is audit compulsory for a partnership?
AW FIRRAE (F0a W [ el 2

v)  What is sample checking?
T S FICF A2

vi) Mention the name of a cash voucher.
GG oM SICHIER 15 SrEe 4 |

2. Answer any six questions: 2x6=12

@I =FH el Teq wie ¢

1)  What is vouching?
@RS o] AGRP 0o 6 (=R 2

i1)  What is audit in depth?
sfeld R FICE AT 2

iii)) What do you understand by teeming and
lading?
i e =ifte wiee & @Rie

iv)  Mention two benefits of internal audit.
Sifergd arR 1io 9 Srar Fl |

v)  What are the documents required for
vouching a bank loan transaction?

15(C)/1 [2]



Vi)

T (A AN REFE F@ER Tore! [
fe (A IBR T WI?

Mention two reasons for which audit is

necessary for a partnership firm.

SRAMIS FAIE R Ao uib FRel
T 39|

vil)) Mention two disadvantages of sample
checking.
T AGE simiod 1o SpyREl Srard I
viil) Mention two benefits of periodical audit.
g farwE gt 7Rk S 391
3. Answer any four questions: 6x4=24
-1 BTG eeas Ted wis ¢
1)  What are the advantages of audit of a sole
proprietorship business?
93 N FRaE Fawr gRkaef
fae
11)  What 1s internal check? What are the
advantages of it?
Srerede fhEE T FIE A2 @7 Al
f& foe
111) What is audit note book? Why it is important?
AR @ib9E FIE e 93 FRTERel e
15(C)/1 [3] [Turn over]

Vi)

What is interim audit? What are its

advantages?

wge] 9 FIE A0 2 @7 el 5 e

What are the measures an auditor has to take

for vouching cash sales transactions?

T RF RFI® ETWMER THore! AGBFAEE Tl
e & 98 920 s90e =2

What are the different errors of accounting?

Discuss with examples.

AT REFI® g F© BT Trigad AR
ST 9 |

Answer any one question: 10x1=10

@@ @B AT Ted WS ¢

i)

ii)

iif)

15(C)/1

What are the desirable qualities of an auditor?

qFee Farred [ F adqe A AR 2

What are the steps an auditor should take

before the commencement of audit?
G35 2SRt NArFIAR wwa Sicel e [Harss
5 & omMeFs 920 Fa@2

What is statutory audit? Distinguish between

statutory audit and non-statutory audit.

R s P A 2 [igas WA ¢ wiigas
SRR AN AT F4)
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MODULE-II
PART-1
(Business Mathematics)
(felfen= sifere)
(Marks : 25)

(N9 3 @)

Answer any one question: Ix1=1

- @F5 e Ted wle ¢
i) If (20)™ =49, find the value of (20)™.

(20)™ =49 =T, (20) " -as S fovefar et
1
ii)  Find square root of §(2+\/§)

Tofaet e %(2+\/§) |

Answer any three questions: 2x3=6

@~ foas ersm Tex wie ¢
1)  Solve : 4¥2 4 22+ _ g

WW 39 ¢ 4x+2 +22x+3 :96

ii) If x=94+4./5, then find the value of

- V)

x=9+4/5 T, (\/;—%/;)-azf Mo e

4

15(C)/1 [5] [Turn over]

iii) Which term of the A.F. {7, 11,15,19,..} is

15(C)/1

1117

{7,11,15,19,..} 92 W& 2oifeq (Fl 7
1112

n

o) -

Simplify : - -
1 ~1
[ o) a2
Y (p- 1)
o Ja) -4
AL 4 ¢ Am An
1 ~1
[ o) a2
How many terms of the series

64+32+16+8+... must be taken so that the
1
sum may be 1275?

64+32+16+8+... 43 @NT Fofe Ama FWD

1271?
2

[6]



3. Answer any three questions: 6x3=18

@I foa® amis Ted wie ¢

)

iii)

15(C)/1

Ifa, b, c be in A.P. and x, y, z be in G.P., prove

that, bec , ycfa , Zafb — 1 .

T a, b, ¢ MG @EACS @R X, y, z BT
(AT 20T, O &I 9 @, %", y= 2 =1 |

A man borrows Rs.2,000 and agrees to repay
with a total interest of Rs.340 in 12 monthly
instalment being loss than the preceeding by
Rs.10. Find separately the amounts of the

first and last instalments.

@3 e 2,000 BRFl 7 (A @R O @6 M
340 ORl 17 1210 Wi [Ffere ifteiy e
Aife 23| el sfmm emeiw s i 2=
@, &ffefb 68 ©ix 105 2428 68 o 10 Bl
T 2| 2 ¢ (< e A sjei e
4|

_Na?+b? +4/a> b’
Ja?+b? —+Jal—b* "’
b’x* —2a’x+b*=0-
‘= Ja? +b% ++/a’ b2
Jal+b* —+Jal-b*"’

b*x?-2a’x+b* =0 |

If x

then prove that,

?C (Mel8e (¥,

[7] [Turn over]

15(C)/1

A sum of money invested at C.I. amounts to
Rs.11,236 and Rs.11,910.16 at the and of 2nd
and 3rd year respectively. Find the rate of

interest and the sum.

fog #ifw Bil v 77 g @Sk € g
379 oIC® TU@EE 11,236 51 € 11,910.16 Bl
7o S w29 e Siedlq Afase e 91

Solve the system of equations by Cramer's

rule:
x+2y-3z=1,2x-y+z=4,x+3y=5.
Cramer's rule &9 I 0T < 8
Xx+2y-3z=1,2x-y+z=4,x+3y=5 1|

[8]



PART-II
(Statistics)
(CUEE ST

(Marks : 25)

(T ¢ )

Answer any one question: Ix1=1

@@ @B AT Ted wie ¢

i)

ii)

What do you mean by 'Standard Deviation'?
'Standard Deviation' IeIce & @RI 2
Define 'Ogive'.

'Ogive' @3 ¥Res| wie |

Answer any three questions: 2x3=6

@@ Toalt eong Teg wie ¢

)

15(C)/1

What do you understand by "Weighted

Mean"? Explain with examples.

“ORYS 1Y @IS (RN 2 SuIReR 1R |

Write notes on : Relation among Mean,
Median and Mode.

Bl (512 ¢ L, ML € ALANRTF W ATARS
oA |

[9] [Turn over]

iii)

Explain with examples the utility of

measuring dispersion.

Trizger gl siftmiem awafss Somifaret
Ry 9|

Find the mean and mode of the following

Numbers:

4,3,2,5, 3,4, 51,7, 3,2, 1.

fsfeiide scanefm g ¢ e A e
Fq 2

4,3,2,5,3,4,51,7,3,2, 1

Write short note on 'Regression equations'.

1R Bl @1¢ ¢ ‘efSome R’ |

Answer any three questions: 6x3=18

@@ Toalt eong Teg wie ¢

i)

15(C)/1

Define Rank correlation. Write down
Spearman's formula for rank correlation
coefficient R. What is the limits of R?
Interpret the case when R assumes the

minimum value.

Aifqam FA2oAFSER Aw@l w8 | Spearman-<€3
Alfeara Azolfdade wom (R) @3 7@ Sea< 74| R-
@37 FIETZ 5 2 R-97 Fues| AT Olesi il
Sl
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ii)

Find the S.D of each of the following grouped

of frequency distributions:

fasferiie @fmm PRl [Relem e T
GIRCTERCREECIE S

Frequency distribution of Wt. of 100

students:

100 &« Btad ST ARy [Kerieee

Wt.(pounds)

120-124 |125-129 | 130-134| 135-139| 140-144 | 145-149

Students 12 25 28 15 12 8
iii) Determine the median and mode price of the
following distribution:
BICERE S GRS R S CE NS RECRIE =
Price: 310-319 | 320-329 | 330-339 | 340-349
Frequency: 5 8 12 28
Price: 350-359 | 360-369 | 370-379 | 380-389
Frequency: 32 9 7 4
1v)  Construct a Histogram and frequency polygon

from the following data:

0937 eI Histogram € frequency
polygon 9[& %9 ¢

Income (¥1%) | 11-15| 16-20 | 21-25 | 26-30 |31-35 | 36-40

No. of person

iz w1

4

13

22

33

12 6

15(C)/1
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15(C)/1

Discuss the relative merits of range, mean
deviation and standard deviation as measures

of dispersion.

fglon wAfmioRe 2 o, STC 149y ¢ A
AMLFR Al ARl 5 SAETEA 74|
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